17.

18.

19.

20.

21. (9y) (i)y = log(cosecx —cotx) (ii) x®>+y3 =3 erafled, Z—i -6 GIENS.
_ . . d2y dy L
(@) ¥y =x%sinx ereuflsb, x2E—4xa+ (x2 +6)y = 0 etewr Femi.
o0 Bw 0w . 8% 3 :
@ u=log(x*+y?) eafld, —, 3y, 0OId = @b sens.
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(@) &rmofler afdlenwl) LWETUHSS SPSEITL. FWATUTHISHDMNTS Si&Hs:
x+y+z=3, 2x—y+z=2 wpgo 3x + 2y — 2z = 3.
1 1 -1
(<) 2 1 0| —ar gyenfllflsr Criumm sreaws.
-1 2 3

20
@ (4x*+3) -eir afiflafléd 'x' emms o miiewUs Snens.

(2) == o selGUTasr G winh efés sans.
(9y) e-wmiaflsr Canmémstl LLETUHISS &(mHEES:

(cos 30+i sin 30)* (cos 40 +i sin 48)?

(cos28+isin28)° (cos 58+isin56)3

@) & x*+1=0

5 7

(o) sind = 18—7 myis sin B = o eteuflev, sin(A + B) = ? TEUTE s:m'_@&,.

21

1-cos34
1-cosA

() Hlemi: = (1 + 2 cos A)?

(@) (cosa+ cosB)?+ (sina + sinB)? = 4 cos? (%) sTe0Td S (DS,

(o)) sin"*(3x — 4x3) = 3sin™! x ereor HemiA.

. L x3-8
(cwy,) AN YR xI_,)tz e
A i +si 4 d = .
(@) (i) y =e*xcosx (i) y = f_::;i suflev, ﬁ —08 STEUTE.
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[N.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two
divisions of each question in PART-C.

(2) Each question carries 2{two) marks in PART-A, 3(three) marks in PART-B and
5{five) marks for each division in PART-C.]

PART - A
1. Find ‘%’ if |1”f6 i| ~0

. ‘s ; 1 4
2. Find the adjoint matrix of (5 _2)
3. Find the value of %+ i3 +i*
4. Find the modulus and amplitude of 1+

5. Find the value of sin72°cos18°+ cos72°sin 18° without using the
table. “

6. Find the value of 3sin20° — 4sin® 20

7. If y=sin"'Vx, find z—z
" du du . _ _
8. Find = and 3 if u=Ilog(x—y)

PART - B

9. Find the inverse of (i _;)

. 10
10. Find the 5 term in the expansion of (xz + xiz)

2+51

11. Find the real and imaginary parts of Ty

12. IftanA=- and tanB = % , find the value of tan(4 + B)

13. If sin8 ==, find sin 36

W M=

14. Prove: tan™! (:x

x2

)=2tan“1x
15. If y=(x+3)(x—4), find 2

e 5% 3 du du
16. If u=2x3+ 4y’ + 2xy, find i and ™

[Turn over.....
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17. (a)
(b)
(c)
18. (a)
(b)
(c)
19. (a)
(b)
(c)
20. (a)
(b)
(c)
21. (a)
(b)
(c)
185/9—2
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PART - C

By using Cramer’s rule, solve the following equations:
x+y+z=3, 2x—y+z=2 and 3x+2y—2z=3

1 .=l
Find the inverse of the matrix 2 1 0
G g

' 20
Find the term independent of 'x' in the expansion of (4x3 + x_?;)

Find the modulus and amplitude of the complex number %

Simplify using DeMoivre’s theorem:

(cos30+isin36)* (cos40+isin40)?
(cos28+isin20)5 (cos 58+isin58)3

Solve: x>+1=0

1?1

If sinA =— and sinB = i show that sin(A + B) =
17 13 221

1-cos3A
1-cos

Prove: = (1 + 2 cos A)?

Show that (cosa + cos f)? + (sina + sin )? = 4 cos? (?)

Prove that sin~1(3x — 4x3) = 3sin ' x

Evaluate: Lt ’23_8
x—2 X*—16
. EZ . . o A __ Xx+sinx
Find 5 * if (')y €7 X Cosx (") y= 1-cosx
Find ﬂ , if (i) y = log(cosecx — cotx) (i) ¥*+y*=3

d2y
If y =x%sinx, prove that xz-&—2»4x +(x*+6)y=0
du a2%u

ey 2
If u=log(x?+y?), find 2% 357 gy OGN 2o

9.

10.
L1,
12.
13.
14.
15. y=

16.

’ I16

%
Sbip iy anbd

ey : () ued-o wDpw UG- S gadars LeSudinss TtsaiIo
og leTTesEneEw, LOHNW UGH-EG-1l0 gatamm elarraledmrs
gCaad Qn Uflasensgn alen_weflEsauo.

(2) @aldaurp slemaw UGH-o-ale 2(@ram®) wHitLaTasr, LGH-,
aleo apermy) wHLCLeTSEET WLHPID LGH-D-1T60  eutaur(h Lﬁ]rﬂsum
5(spbgi) wHUCLITESeT CGLMID.]

UGS - o
:| =0 eeoflled 'x' —6ir wHleOLS SIS,
(é _4) —sor Gaiy ojsmflenws smeors.

i24i3+i* —ar wdHleous sTaTs.

140 —6r wl@ LoD aiFs Smas.

S Lsusmemremull  LinsiLBl&Smosd  sin 72° cos 18° + cos 72°sin 18° —sir  dlliemus

ST6U0T 5.
35in 20° — 4 sin® 206t WHlWUS STETTS.
i . dy . %
= ereafley, — & SHMEUITS.
y =sin" Vx D o 8

u = log(x — y) srerflev, —”— LMt Z—; —e0& ST

H@ﬁ_:

(i _;) —aor Griomm smers.
10
(xz + -15) —sir efflaurdssSn 5-10 o mmUs STeTs.

2+5i
m —aar Goil Lﬂg]g]lm aagnumso‘ru U@ﬂ&mm&: SIS,

tanA =% wmmid tan B =§ steefley, tan(A + B) —eir wdllenus &metrs.

: 2 o . ;
sin@ = ; eraflev, sin 36 -5 sTETS.

Bl tan™! (:’;2) =2tan™1x
(x + 3)(x — 4) ererflsv, % -6 SHEUS.

u = 2x3 + 4y3 + 2xy ereflen, g—: LOMMILD g—; -8 &IEIS.
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